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RAFFLES GIRLS’ PRIMARY SCHOOL
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MATHEMATICS
PRIMARY 3
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Section B (15 marks)

Section C (20 marks)

Overall (Out of 50 marks)

Parent’s Signature

INSTRUCTIONS TO CANDIDATES

1. Do not tum over this' page untif you aré told to do so.
2. Follow all instructions carefufly.

3. Answer ALL questions and show all working clearly.




SECTIONA('IS marks)

V_Quesharas 1t 5 cany 1 matk sach. Quesi“ ons 610 10 carry 2 marks sach.
] fory, four optlons &gw,en; One of them is the tomect ariswer.
Make your-ehelce {1, 2, 3 or 4yahd shade your answer 1, 2,30r 4) on the
-.Oﬁtical Answer-Sheet,
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Whiat could be the: massof an apple?
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4.

What is 15 minutes after the fime shewn on fhe clock?

(1)

(2

(3)
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kersinge the follwing numbsrs o the smallest 1o thd greatest.

Bas0 380 5830 |

Smailest | Grestest

(1) B350 3580
{2y 3580 8850
@ 3580 5830

) 5830 3580 8350

Which;of the fﬁliawhﬂ;'fm'db5&3"5¢m5 Sma"eﬂ?
)
@
@

)

OB G, TS W

Jesii bought thi beok-and the pen. She gave thercashier $50. How much
chinge did. she recolve?

1y $1740
4y 33520

P& ori4
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9. How much more waler is needed to fill the bezker to 500 mi?

Y —s500m [

(1Y 130 ml
(2) 160ml
(3). 320 mi
4) 340:m

10.  Which two shapes shown in the grid have the same araa?

(2) PBandD
{3y AandB

(4} BandD
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Which requni"e ufmts gjve your answers ;n the umt stated
44. Write eight thousand, five hundred and twe in numerals.
Answer
i2. Whiat is the-missing number in thie box?
+ 4536
Answen ___
- Po6 ol T4
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13, Whatls the fraction represented by A otvthe numbsr fine?

e s S
0 | 1
A
Answer:.
14 Find the sum of — and —
- Fin suUmo 4an 3
Ariswer:

15. Draw a line perpendicular to AB passing thtough paint C.

q)‘

-
B
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18 There:are'6 dorus in a'box, Mrs Leé bought 8 boxes.
How many donuts did-shé get?

Answer:

17. M Alhad 637 ovanges. He packed them into. bags of 7 oranges. How many
bags ef eranges did he pack? |

Ariswer:

18. Wrs Raja bought 720 § of potatoes. Mrs Tan boughit three times.as muich
potatoesas Mrs Réja, How nilich potatoes did Mrs Tan buy?

Answeri_ . .8

- Pgeeris
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18. The perimster of a.square 1336 cm.
Find the area of the square,

Answer: em?

20. The height of three stacked paper cups is 20 cm. The height of two stacked
Paper cups.is 16 cm, What is the height of 1 paper cup?

20 cm

Answer: _ cm

Pg8of14
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SECTION € {20 marks]

For quesfions 21 to 25, show your working leaily ahd wirte your answers in the,
spaces provided. The number of marks available fsishown in brackets [ Tat therend of
sach questionor part-question. : _

21. There were 4320 adults:and 1895 children in a stadium.

 (a) How many fewer cHildran than adults-wers there? -

(b) There.were 820'bays. How many girls were thete?

Answers {b)._ 2]

Fyg 10 of"14
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‘22, The sum of 2 numbers is 86.
The difference between the 2 number is 14,
(a) Find the smaller number.

Answer: (a) [2]

{b} Find the bigger riumber.

Answer: (b) [2}

Pg 11 of 14
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23, Thebargraph shows the riumberof childrén Who visited the s¢hdol iibrary'in
oneweck. The numiber-of children who visited ihe ibrary on Friday is not
shown.

Number of Children at the Sehisol Library

Kurnber of Children’,

" Monday Tuesday WednesdayThursday ~ Friday

Days of the Wesk

“This pumber of children:wiio'visited the library on Friday s the sameas the
4otal Humber of childreh Wha visited thie library or-Moriday and Tuésday.

{a) How manychildren visited the:library-en Friday?

Answer: (a) i ||

{B) There weré squal rumber of bays and irls whovisitsd thie liBrary on
Friday. Complete the bar-graph.for the number of boys and girfsfor Frigay:
m

(&) Wiits ‘T for true and ‘F* for falte dh: the boxes, |18

70} [Thete were:5 mote gifs than boys Who; visted tha bRy on
E Wedh@a?‘* SRS g = i T . 7
(@[T Wice a8 many gifs-asiboyswho vistied the Ubrary

Py 12.0t94:



24.

Sarah feft her home for the library at 15:40. She took 15 minutes to walk to the
bus-stop. She waited for 25 minutes for the bus.
Use a timeline to help you find your answers.

(a) What time did the bus armive-at the bus-stop?

Answer: (a) [2

(b}  Sarah reached the library at 16 45. She left the fibrary at 18 30. How long
was Sarah at the library?

Answer. (b} [2]

Pg 13 of 14
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55, lrergrand Peter used sticks ie make gquares-and triangles. {They used 4
‘gticks for gach solidre . and 3 éticlss for-eseh triangle.)

Square: - - Thangle

(a) frene'made & squares: She used the same number of sticks for the 6
squares to'make some;triangles. How many triangles did she make?

Answer. (a) 1@

(b) Peferihads the sarie nuriberof squarés and triangles, He used 35
stieks alfogether. How many:siiiares did.he make?

Answer; (b) : 2

“End of Papér-
Plense zheek:yaurwsﬂt carefally ©

Pg 144714
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SCHOOL : RAFFLES GIRLS’ PRIMARY SCHOOL
LEVEL :  PRIMARY 3

SUBJECT : MATH

TERM : 2024 SA2

Ql | @2 | Q3 | a4 | a5 | a8 | o7 [ a8 | a8 | Qio

4 2 3 4 1 3 4 2 4 1
Q11 [ 8502
Qiz |6
Qi3 |7
10
Qia |5
a
Q15

Q16 |gX6 =48

Q7 1637 =7 =91

Q8 u=720
3U = 720 X 3 = 2160g
Q1% |81 cm2

Q20 120-16=4
16~4 = 12 cm

Pg 1
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Q21

2)4320 - 1695 = 2625

Q22

| b)1695 - 840 = 855
|a)86-14=72 " |

72+2=36
b}36 + 14 = 50
86~ 36 = 50

Q23

a)90

b)90 = 2 = 45 (draw-) "

T iF

Q24

a)16 20
b)1h 45min

Q25

a4 x6 =24
24 +3=8
b)3+4=7
35+7=5

Pg2
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